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Calculations with 3 integers

Calculate 

-13   x   5   x  -11  =   

 25   +  -3   x  -20  =   

 15   +   8   x  -20  =   -18   x   2   x  -22  =   

-25   x  -3   x  -11  =   -35   x   3   +  -12  =   

-34   x  -3   +  -62  =   -15   +   3   -  -19  =   

-14   x  -3   x     8   =   -17   x   2   x  -15  =   

-11   x   4   -   -33  =    22   x   2   +  -12  =   

 10    -   4   x    12  =   -20   +   4   +  -22  =   

-22   x  -3   -   -23  =   -12   x   3   x  -15  =   

-10   +   4   x  -10  =    25   +  -3   x  -14  =   

-11   -    8   x  -12  =   -15   x   2   x  -11  =   

 45   +   8   x  - 5   =   -25   x  -2   +  99  =   
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Answers

Calculate 

-13   x   5   x  -11  =   715

 25   +  -3   x  -20  =      85 

 15   +   8   x  -20  =     -145 -18   x   2   x  -22  =   792

-25   x  -3   x  -11  =   -825 -35   x   3   +  -12  =   -117

-34   x  -3   +  -62  =     40 -15   +   3   -  -19  =       7

-14   x  -3   x     8   =   336 -17   x   2   x  -15  =   510

-11   x   4   -   -33  =    -11  22   x   2   +  -12  =     32

 10    -   4   x    12  =    -38 -20   +   4   +  -22  =    -38

-22   x  -3   -   -23  =   89 -12   x   3   x  -15  =   540

-10   +   4   x  -10  =    -50  25   +  -3   x  -14  =   67

-11   -    8   x  -12  =     85 -15   x   2   x  -11  =   330

 45   +   8   x  - 5   =    5 -25   x  -2   +  99  =   149


